OHETHI R - FEAIAD

(B . A)
R=EPET | RERRET | /NVRET | MEAET| MMGET | TIHET | HEET | EHET | ESPET a5t
i 3,333 636 450 447 1,715 756 866| 1,001| 1,537| 10,741
AO(A) 7206 1,613 1,175 1,172] 4,138] 2,027] 2,389 2,441] 3,977 26,138
8 3,388 789 580 571| 1,984 1,016] 1,168] 1,194] 1,916 12,606
S 3,818 824 595 601] 2,154] 1,011] 1,221] 1,247] 2,061| 13,532
158K (BD) 819 159 79 88 458 178 294 158 348] 2,581
158 ~64i% (L) | 3,719 803 542 556| 2,275 988] 1,131| 1,154] 1,878 13,106
65 Ll E (B5) 2,608 651 554 528| 1,405 861 964| 1,120| 1,751| 10,451
FEREXAERAQGEAEL) SF2F9 A0BR®E
ORI FE kB AN O EL
=EFET | REEET | VRET | MEE4ET| MMGET | LEET | BFEET | EHIET | ESRET A%
1558 R i (D) 11. 4% 9. 9% 6. 7% 7. 5% 11.1% 8. 8% 12. 3% 6. 5% 8.8% 9. 9%
15m ~64%% (CEREGEHR) | 52.4% | 49.8% | 46.1% | 47.4% | 55.0% | 48.7% | 47.3% | 47.3% | 47.2% | 50 1%
65m L E (B 36.2% 40. 4% 47.1% 45.1% 34. 0% 42.5% 40. 4% 46. 3% 44.0% 40. 0%
R, BREOEXOBEZEEEAL TS H., BEHFI0%ITELHENERBYET,
BT A4 #5 3 X DFEREL
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= B HT fEfRET INRET Bﬁ 5¢FET FA IR ET T HET H HEHT i) = SPHET
= SEKE (FD) = 15I-T§~64I-T§ (EEEH) - 65ELLE ()




